1.

8 37 = 9 3° x 39 oA [ hol] e 5F Fafoat,

cCh "
H -

>
|> Mok o8

oH =

32 x30=9x3°%x33=32x3°x32=32x38

..O0=8




2 +3% 4 SAH 7
35
35
35 eN
= 3 94
A Y
=] 7‘1]
Ho=
pda=t
]4-
=33
™
7

@
33
@
®
39
@
312
®
315

3%+
3% +
35
3x 3% =
— 36




3.  a&b*xa®b® =a"b° L 1, I:I?l'oﬂ

® 15,12 @8,8 ® 9,7

ok 5 AR 2 221

@ 5,11 ® 11,7

B

a®b? x a®b® = a® x b? x a® x bS
=a xa® xb* x b
— g3+5 ¢ p2+6

— a8b8




4. 23 x57x26x5° 2 pn ]| Aol n 9] L oY

@ 9 @ 10 ® 11 @12 ® 13

B

23 x 57 x 26 x 55 = 29 x 512
=29 x 5% x 53
=102 %125

whebA] 12 242 9] Seolc).




212 32 x 510 2 9 ]9 5914 Fspoiet,

=% Ae) %

| 2
> ®eb: 1274 &=

B

212 x 3% x 510 = 210 % 22 x 32 x 510
=22x3%x (2x5)10
=22 x 3% x (10)1°
= 36 x (10)1°

whabA 12742 o] Seolet.




6.

a=3"Tt A 81% & g of W3 Ao
a a’ a3
oy @3 Ogx

B

=3x+1 —=3.3% 3x=g
a , a , 3
s = 3ty = 31 = (4)' = &
3 81




21042—5)520 2 aAe] o] Solth. o] W, a o] 3 Fatolat.

=t
H =

>
[> ek 11

(=¥ = B

210 x 320 x 520
T30 x50
Ta=11

— 910 » 510 _ 110




8.

a=3"Tt A 81% & g of W3 Ao
a a’ a3
oy @3 Ogx

B

=3x+1 —=3.3% 3x=g
a , a , 3
s = 3ty = 31 = (4)' = &
3 81




Fdel 332 F5td
3t x3¥+2 =3
4+3x+2=1

5

LXx=—=

3

1 _ -
+m 2725% Tt x 9] gk 5HA?
5 2 )
® - 2 ©@-; @2 094
1 1
Sl—m—z’?:g
1 1
34X33x+2)(3—3=§




@ -125x3y°

(=5xy)* = (-5)

3x0y3 —

—-125x5y3




4 b
1 (D) = 2 2 ars ol @ Fetolet

ya
» g
> Heh: 16

B

B\ X2 x
()7) :W:Fo]ﬂilla:l(s

webA] g =4 0] b = 12 o]t}
La+b=4+12=16




12.

t=Agt & o, ohe F 9%+ 97 9 g T2 A0

® A @ A? @ a®




13. 2% =84 mj, x 9] gk= stof=t.

[
H =

>
> Heh: 5




@ a8+a2%a2:a4

@ y2+y3)(y5 :y4

B

@b6+b12 _ %

@ ¥+ cl0 =

o | =~

D ab +ad=ab3 =48

2, 1
6 . p12 _ 3,6-12 —6
@ a8 = (12 = a2 = a8_2_2 —=a

4
9. 10_ 910 _ 1 _ L
@C ~Cc =c —cl==
c

® y2 £ y3 xyd = y23+5 = 4




—| &

Il

<t e

x_x

<t [ 00

Il

. ~[%

=& v

PR =%
u U

RO 4x

=
A A




16. (3x)> =81x** 4 W, a+ b O] 27

@ 6 @ 7 ® 8 @ 9 ®)10

(3x7)b = 3bx = 81x24 O|BLE b =4, ab = 24 o]t}
et g =6 0B a4+ b=6+4=10 o[tk




17, (B2y2) =523 A W, a+ b+ c 9] G227

@ 7 @8 ® 9 @ 10 ® 11

(nyaZb)C _ xZCyachc _ _x6y1223

2c =06, ac =12, bc = 3

c=3,a=4,b=1
a+b+c=8




18. 2vFt =41 o] & ff, x o gh2?

9x+4 22()6—1)
x+4=2(x-1)
Sx=6




_5x2\l  _ 9
19. ()= IO Al akb-c o) G PR,

—5x\"  (-1)P5Pxeb  —125x°
y - yb - y3c
50 =125 b=3
x¥=x9 a=3
b=3c=3,c=1

“a+b-c=3+3-1=5




20. 3" x27 =81 & WESHE x 9] 3H2?

@ 3 @ 4 ® 6 @9

® 12

3" x 27 =3"x 3% =3 = (3%)3 = 312 =813
3x+3:312 01"/\1 x+3:12

Lx=9




